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Chapter: Bangladeshi coin and Note 
 

Solution of Lecture -2 notes 

Answer to the question no-1 

 

*** you must show rough  

 

1.200 taka 

2.100 taka 

3.1000 taka 

4.500 taka 

5. 100 taka 

6.1000 taka 

7.500 taka 

Answer to the question no-2 

a 2Taka 

b 2 Taka and 50 paisa 

c. 70 paisa 

d.1 Taka 10 paisa 

e. 20 paisa 

f.21 taka 

g.110 Taka 60 paisa 

h.1151 Taka 10 paisa 
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 Answer to the question no -3 

*** (show rough) Do yourselves 

 

a)  

 

2 coins of 50 paisa is equals to1 taka. 

b)  5 notes of 10 taka is equals to 50 taka. 

c)  5 notes of 20 taka is equals to100 taka. 

d)  4 notes of 100 taka is equals to 400 

taka. 

e)  4 notes of 1000 taka is equals to 4000 

taka. 
 

 


